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 எல்லா கேள்விேளுக்கும் பதிலளிக்ேவும். 

 

01.    (i)  Nfs;tp gad;gLNfs;tp NtWg;gLj;Jf ? 

      (ii) Nfs;tp kw;Wk; tpUg;gk; vd;gtw;iw NtWg;gLj;Jf 
      (iii) jdpegh;; Nfs;tp kw;Wk; re;ij Nfs;tp NtWg;gLj;Jf. 
      (iv) Nfs;tp njhopw;;ghL kw;Wk; Nfs;tp tpjp vd;gjhy; fUjg;gLtJ ahJ? 
      (v) Nfs;tp tpjpapd; vLNfhs;fs; ahit? 
 
02.    (i) Nfhs;tp kw;Wk; Nfs;tp njhif vd;gjhy; fUjg;gLtJ ahJ? 

      (ii) Nfs;tp khw;wk; kw;Wk; Nfs;tpj; njhif khw;wk; NtWg;gLj;Jf. 

(iii) xU Fwpj;j nghUSf;fhd re;ijapy; epyTk; Nfs;tp rkd;ghL QD = 110- 4p MfTk;  >epuk;gy; 
rkd;ghL Qs = -50p +6p MfTk; fhzg;gl;lJ. 

a). rkd;ghLfis nfhz;L rkepiy tpiy kw;Wk; rkepiy njhif vd;gtw;iw fzpg;gpLf. 

                      b). re;ij rkepiyapy; Efu;Nthu; kpif kw;Wk; cw;gj;jpahsu; kpif fzpg;gpLf. 

(iv) re;ijapy; tpw;gidahFk; xU nghUspd; tpiy &gh 10 Tk; Nfs;tpj;njhif myFf;F 150 
Mf ,Uf;f tpiy 15 &ghthy; mjpfupf;f Nfs;tpj;njhif 100 Mf FiwtilAk tpiy &gh 
10 kw;Wk; &gh 15 ,y; nefpo;rpia jpdpj;jdpahf fzpg;gpLf. 

 

03.    (i)  re;ijapy; epuk;gy; NfhL tiuAk; NghJ khw;wkilahky; / epiyahdjhf nfhs;sg;gLk;    
        fhuzpfs; vit? 

      (ii) nghUshjhu kpif vd;gjhy; fUjg;gLtJ ahJ? mjd; Kf;fpaj;Jtk; ahJ? 

      (iii) re;ijapy; Nfs;tp epuk;gy; rhu;gps; rkd;ghLfs; fPNo fhl;lg;gl;Ls;sd. 

                              Qd = 250 – 2p 
                              Qs = 3p 
             NkNo cs;s Nfs;tp>epuk;gy; rkd;ghLfis nfhz;L  

(a) Nfs;tp kw;Wk; epuk;gy; Nfhl;bid tiu glj;jpy; fhl;Lf. mjpy; rkepiy tpiy kw;Wk; 
rkepiy njhifia fzpg;gpLf. 

(b) Rkepiy Nfs;tp kw;Wk; epuk;gy; nefpo;rpia fzpg;gpLf. 
(c) Vy;yhk; tpiyfspYk; Nfs;tp myFf;F 20 Mf mjpfupj;jhy; Gjpa rkepiy tpiy 

kw;Wk; njhif vt;tsT? 
(d) Nfs;tp mjpfupg;gpwF;>gpd; Efu;Nthu; kpif kw;Wk; toq;Fdu; kpif fzpg;gpLf. 

(iv) epuk;gy; NfhL ,lJ gf;fj;jpypUe;J tyJ gf;fj;jpw;F efu;tjw;F nry;thf;F nrYj;Jk;       
fhuzpfs;  

 nghUspay ; 

myF uPjpahd kPl;ly; nrayl;ilfs; 
juk; 12 

Nfs;tp> epuk;gy;> nefpo;r;rp kw;wk; re;ijr; rkepiyiag; gFg;gha;T nra;thu;. 

fl;likf;fg;gl;l tpdhf;fs; 
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04.  

fPNo fhl;lg;gLtJ Fwpj;j nghUSf;fhd Nfs;tp>epuk;gy; rkd;ghlhFk;. 

                Qd   = 300- 2p 

                Qs    = 2p       

(i) ,e;j Nfs;tp epuk;gYf;fhd re;ijapy; Nfs;tp nefpo;r;rp kw;Wk; epuk;gy; nefpo;rpia fzpg;gplf. 
(ii) rkepiyapy; Efu;Nthupd; nryT kw;Wk; Efu;Nthh; kpifia fzpg;gpLf. 
(iii) fPNo fhl;lg;gLtJ x kw;Wk; y gz;lk; njhlu;ghd nefpo;rp ngWkhdkhFk;. mjd; gz;lk; 

tifia Fwpg;gpLf. 

X – gz;lk; tUkhd Nfs;tp nefpo;r;rp     + 0.2 

y – gz;lk; FWf;f Nfs;tp nefpo;r;rp     -  0.2  

(iv) Fwpj;j nghUs; cw;gj;jpahsUf;F mt; cw;gj;jpapy; <LgLk; Copah;fspd; $ypia mjpfhpf;f 
Neupl;lJ. Fwpj;j eltbf;if fhuzkhf Vw;gLk; jhf;fj;ij Nfs;tp epuk;gy; tisapfis 
mbg;gilahff; nfhz;L tpsf;Ff. 

(v) Fwpj;j re;ij njhlu;ghd rkd;ghLfs; MFk; 

              Qd = 100 - 3p Nfs;tp rkd;ghL  

                                  EQd = 150 - 5p kpif Nfs;tp rkd;ghL 

,e;j rkd;ghl;il nfhz;L epuk;gy; rkd;ghL kw;Wk; rkepiyapy; epuk;gy; nefpo;r;rpia  
Fwpg;gplf. 

 

05. 

(i) Nfs;tp NfhlhdJ ,lkpUe;J tykhf NkypUe;J fPohf rupe;J nry;fpd;wJ. ,t;thW Nfs;tp 
Nfhl;by; G+r;rpak; Kjy; Kbtpyp tiu nefpo;r;rp ngWkhdk; 5 fhl;lg;gl KbAk;. ,Ug;gpDk; nefpo;r;rp 
ngWkhdk; khw;wkilahj re;jh;g;gq;fSk; fhzg;gLfpd;wd. mt;thW nefpo;r;rpg; ngWkhdk; 
khw;wkilahj re;jh;g;gq;fs; vit? 

(ii) tpiy kw;Wk; epuk;gy; njhiff;Fk; ,ilapy; Neu;fdpa njhlu;G fhzg;gLfpd;wJ. re;ijapy; 
gz;l tpiy mjpfupg;glhky;  epuk;gy; mjpfupf;fg;gl KbAk;. tpsf;Ff. 

   (iii) re;ij rkepiy vd;gjhy; fUjg;gLtJ ahJ? mjd; epge;jidfs; ahit? 

   (iv) nghUl;fs;  Nrit>re;ij kw;Wk; fhuzpr; Nrit re;ij ,ilia cs;s NtWg;ghL ahJ? 

       (v) re;ijapy; fhzg;gLk; tpiyay;yh gq;fPl;L Kiwfs vit? 


